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MATH 181
Final Practice Problems — Answers
Summer 2009
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b) converges (easiest use Leibniz Test or Ratio Test)
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(d) diverges (easiest to use Integral Test or Comparison Test with Z

conditionally convergent

w
N W

R .
radius is oX interval is —= < x <

[\

2z)3 2z)°
(a) 2x—(3!) +(5!) +...

=)



o0

1
14, 1420+ (20)° + 22)° +... = > _(20)", [22] < L or [a] < 5
n=0
t6 th t14
2
15 (a)t —§+ﬁ—?+
xS :177 Ill x15
b) = — -
(b) 3 7-3!+11-5! 15-7!+
1/2)3 1/2)7 1/2)1 1/2)18
(C)(/> T C) S L)

3 73! 11-5! 15-7!



